





873.705 873.801 873.802 870.802W

870.803

code description finishes pcs.
873.705 Black nylon device replacing tilt and turn handles during the window/door transportation. .74 20
873.801 Handle rotation restrictor for tilt and turn art. 873.755/.756 - 873.781/.782/.783/.784 in black 20

nylon.

873.802 Handle rotation restrictor for tilt and turn in black nylon (to use with art. 873.7/.8/.779/.780). 20
870.802W Stiffening snap in white galvanized zamak for Eurogrooves profiles and NC International. 200
870.803 Stiffening snap in die-cast metal for profiles “R 40/50 and NEW TEC”. 200

Handles, snap latches and accessories for tilt and turn

18,8 3 7
o 27 -
I = :
"’-r 15,6 [[I —
T o
£ =t

873.801 -*_ _{

873.802-870.802W

8 123
4\l_‘ B | |
y w

A
——

873.705 870.803

18

84
145




874.598 874.805 874.3/7 874.2/7

874.4/7
code description finishes pcs.
874.2/7 (patented) Handle base with extractable grip made of die-cast aluminium 1013, 1015, 3003, 8019, 9005, 5
and nylon base of the same colour of the handle, distance between 9010, B.SA, BL10, BR5, C,
centre of 43 mm, 7 mm square spindle, 2 galvanized steel cap screws GREY, PVD H, PVD X, SILV

M5x30 and 1 key for handle removal made of galvanized steel; dimension
10x1 mm (1 piece each box).

874.3/7 (patented) Handle with handle in die-cast metal, base and cap in zamak, 1013, 1015, 1035, 7032, 7035, 5
distance between centres of 43 mm, 7 mm square spindle with a 8019, 9001, 9005, 9010, B.MA,
projecting part of 24.5 mm and 2 cap screws M5x35 in galvanized steel. B.SA, BL10, BR5, BR801, C,

GR217, GR51, GR606, GREY,
PVD H, PVD X, SILV

874.4/7 (patented) Handle with handle in die-cast metal, base and cap in zamak, 1013, 1015, 8019, 9001, 9005, 5
distance between centres of 43 mm, 7 mm square spindle with projecting 9010, 9016, B.MA, B.SA, BL10,
part of 52 mm and 2 cap screws M5x60 in galvanized steel. BR5, BR801, C, GR217, GREY,
PVD H, PVD X, SILV
874.805 Protection cap made of red nylon for art. 874.2/.21. 100
874.598 Key for handle removal of art. 874.2/7 made of galvanized steel, 50

dimensions 10x1 mm.

Handles, snap latches and accessories for tilt and turn

o) L n ﬂ
n 8 8 \
| "7 o a7 ] 7 =7 |
N N o
31 30 = A
7 a O
@10 210 30 S
£ 9 @10 N
R o~ 5 : 62
& £ N
b 3 874.805
e (O g Yo (CO g . pa I
— 3 el 1 9 (O 3
N 128 = 127 in
~ I 127
874.2/7 874.3/7 874.4/7

10

i

874.598




N
.

1200/7 1203/7 1200.801

code description finishes pcs.

1200/7 Mono directional gearbox with 8 mm backset for tilt and turn gearing, in black 5
galvanized zamak, 7 mm square hole, nylon bushings @ 6-@ 8 mm.

1203/7 Mono directional gearbox with 16 mm backset for tilt and turn gearing, in 5
black galvanized zamak, 7 mm square hole, nylon bushings @ 6-@ 8 mm.

1200.801 2 mm nylon spacer (to combine with art. 1200/1201 for application on R 40- 40

NEW TEC profiles).

Handles, snap latches and accessories for tilt and turn

T = 27.2
By et
pn o by
|- o~
(RS- 5 —
| H T [ T 2 3d
| o
) - ~ . 0
: i = 7
- © = E Bt
Oy O) o@@ b )
] El 5 E 2.2
_ - Jiamy
D e _ 1
| g 8 % e
5 -© 0 A
g o g % 1200.801
o o o| o
[} [ee]
Q Q
Y T 1 v ol
_
[j 16 [12.5
~ 6.5 285 19.8
( _l 35
@ 0
FW| N~
o| N
N
14.8

1200/7 1203/7 1.5



1212/7 1210/7

code description finishes pcs.
1210/7 Mono directional movement mechanism for RIBANTA 5 with 14,5 mm 5
backset, in white galvanized zamak, 7 mm square hole, nylon bushings @ 6-0O
8 mm.
1212/7 Mono directional movement mechanism for RIBANTA 5 in white galvanized 5

zamak, 7 mm square hole.

Handles, snap latches and accessories for tilt and turn

El 2 1 . | X
ol I H { € <28
0l e | +
148l L 479 |

. UL
=

f
9—‘ N‘- ;fl\ ) ﬂ** lﬂ N 'S Al =
Q '\co j\TJ ) ©
- ﬁ
94 L ]
e ‘ 1212/7
17,2l 110 128 | | | b




1212.705

code
1212.705
1212.801
1212.802

1243.704
1243.899

Handles, snap latches and accessories for tilt and turn

1212.705

1212.801 1212.802 1243.704

description
Black nylon on-site transportation device for art. 1212/7.
Rod connecting piece and 2 nylon bushings of @ 6-@ 8 mm in nylon.

Rod connecting piece in white galvanized zamak and 2 TORX® pre-
assembled grub screws M6x8.8 in stainless steel.

Handle connection piece in black galvanized zamak, 2 polyurethane caps.
Nylon spacer (7 mm) for art.1243.750.

1 13,6

@ 30
9,6
|

14 |10

M5
|
=“
T
42,6

184,8
166,4

231,2
146

J
o6l
N
S

146 | C S
* -H 4.94 J@igr !
o

1212.801 1212.802

J 11,5

—

& C

=y
N

-
-

;

pcs.

40
40
40

10
80



3200.706 3200.704R
3200.704L
1243.750
code description finishes pcs.
1243.750 Aluminium handle for RIBANTATRE, distance between centres 84.5-92- 1013, 3003, 6005, 8017, 9001, 5
98-104 mm, 2 socket head cap screws M5x10 in stainless steel 304. 9005, 9010, B.SA, BR5, BW21,
C, F, NE, SILV, U, ZE
3200.704R RH handle connection piece in white galvanized zamak, pre-assembled 40
grub screw in stainless steel 304.
3200.704L LH handle connection piece in white galvanized zamak, pre-assembled 40
grub screw in stainless steel 304.
3200.706 Handle connection piece for mono directional gearbox in white galvanized 40

zamak, non-handed, premounted grub screw in stainless steel.

Handles, snap latches and accessories for tilt and turn

<4 A5 60 ;L o
T s ETL*:PJ ol
on l L
45
0 LSi] — 0
R B ¢ 38 | 3 —
~ et — 3200.704R-3200.704L
vL :
B, i€
N g2 42065 125 151 ] <
_ 2.1
— e o~
~
Jle 5 ol =129 |l 3 gl H1z2 [ 8 g -H°

#5, 85.5_| $5.5 #5.5 _ .

1243.750 3200.706



3100.821

code
3100.821

1609

1609.1

1609
1609.1

description

Locking piece in black galvanized zamak, 1 cup in low density polyethylene
(LDPE), 1 bushing @ 6-@ 8 mm.

Snap-latch with reduced base and handle made of aluminum and nylon with 7
mm squared spindle and 2 zinc-plated steel countersunk head screw M5x35.
Snap-latch with reduced base and handle made of aluminum and nylon

with 7 mm square spindle (62,5mm projecting part) and 2 zinc-plated steel
countersunk head screw M5x70.

finishes pcs.

9005, 9010, C

9005, 9010, C

Handles, snap latches and accessories for tilt and turn

3100.821

O®

155

62.9

61

114.3

) ®

1609 1609.1

40

5

5



